Name

Honors Calculus Summer Assignment

1. Write the equation that represents a vertical shift up 3 and a horizontal shift left 4 of f(x) = |x|?

2. Iff(x) =+x; g(x) =3x —2and h(x) = x% — 4, find the following, written in simplified form.
a. f(g(x) c. 9(f(x))

b. h(h(x)) d. f(g(h(x)))

3. Determine f(x) and g(x) if H(x) = f(g(x)). H(x) =3
4. Given the values in the following table:
X 1 2 3 4 5
f(x) 3 -3 4 8 -1
g(x) 2 5 1 2 6

a) f(g(D) b) g(f(3)) o F(f(3)



5. Match the name & equation to the graph.

6. Match the description of the transformation with the equation.

7.

Description Function
1. Shift to the left 1 unit a. y=f(—x)
2. Shift to the right 1 unit b. y=2f()
3. Shift up 1 unit C. y=f(x+1)
4. Shift down 1 unit d. y = %f(x)
5. Makes the graph wider e. y=f(x)+1
6. Makes the graph more narrow f. y=f7fkx-1
7. Reflect over the x-axis g y=fx)-1
8. Reflect over the y-axis h. y=—-f(x)

Find the domain of each function.

a.

f(x) =—x3+6x

b. f(x) =v9—2x




. gx)=—"— d. h(x)=Inx

x2-16

. x+2, x=2
8. Given f(x) :{Zx <2’

a. EvaIuatef(—%),f(Z), and f(10).

b. Graph f(x).

9. Solve each equation if 0 < x < 2.

a. cos?x + cosx =sin?x c. sinx++v2 = —sinx

b. 2sin’?x + 5sinx =3



Solve each equation:
10. 18%* = 26 11. log 5x = log(2x + 9) 12. —6logs(x — 3) = —24

13.loge(x + 1) — loge x = logg 29 14.logs 6 + logs 2x% = logs 48



